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(4H9H )

T AT 8] ﬁgﬁ% EiR RS
AH9H B —%Y 1 90. 00
AHIH E5 % 2 80. 00
AHIH B —% 3 81. 60
AHIH B —%Y 4 82. 00
AHIH B %Y 5 85. 00
490 EFH %Y 6 79. 20
4H9H EFH %Y 7 84. 40
AHIH B —%Y 8 77.80
AHIH B —%Y 9 79. 20
AHIH L —%Y) 10 77. 60
AHIH L —%Y) 11 78. 80
AHIH EA5—% 12 81.00
AHIH B2 —%) 13 78. 40
AHIH E5—% 14 81. 40
AHIH L —%Y 15 82. 20
AHIH LB —%Y) 16 79. 40
AHIH LB —%Y) 17 82. 40
AHIH L% 18 84. 60
AHIH L —%Y) 19 79. 60
AHIH B —% 20 86. 00
AHIH B %Y 21 80. 40
490 EFE EY 1 86. 20
AHIH B8 %Y 2 80. 60
AFH9H E5E %Y 3 73. 60




T i B[] 2 Hif AR
AHIH LA %Y 4 85. 20
AHIH LA %Y 5 85. 60
AHIH LA %Y 6 80. 40
AA9H L5 =%y 7 83. 20
AHIH EAH %Y 8 86. 20
AHIH EAH %Y 9 87. 40
4A9H B =% 10 87.20
4H9H B =% 11 84. 40
4H9H LA =% 12 80. 60
4H9H LA =% 13 81. 80
4A9H B =% 14 85. 00
4A9H LA =% 15 81. 40
4H9H LA =% 16 81. 20
4H9H LA =% 17 81. 40
4H9H LA =% 18 83. 60
490 ERH T EY 19 78. 40
4F9H EAFE —EY 20 86. 60
490 ERH T EY 21 84. 20
AH9H EA =% 1 80. 80
AH9H EAEE =% 2 84. 20
AHIH LA H =% 3 84. 80
AHIH LA H =% 4 85. 40
4A9H FF =% 5 88. 00
4A9H L =% 6 83. 80
4A9H L =% 7 82. 40
4A9H Lo =%y 8 84. 00




T i B[] 2 Hif AR
AHIH LA B =% 9 83. 40
490 EFHE =% 10 86. 40
490 B H =% 11 86. 80
AH9IH B =5 12 85. 60
AHIH LA H =% 13 83. 80
AHIH LB =% 14 81. 20
4H9H EFH =% 15 87. 60
4H9H B =% 16 79. 20
4H9H EFH =% 17 83. 40
490 EFH =% 18 84. 40
49N B H =% 19 82. 20
4H9H EFH =% 20 83. 60
4HIH LA HIU%EY, 1 82. 00
49 LA HIU%EY, 2 80. 40
49 LA HIU%EY, 3 87. 20
4HIH LA I, 4 81. 40
AHIH LA HIU%EY, 5 83. 00
AHIH LAY, 6 80. 80
AFH9H B IIEY, 7 81. 80
AF9H BN, 8 82. 80
49N LA HIU%EY, 9 82. 60
49 LA HIU%EY, 10 76. 60
4790 EAFHINEY 11 81. 60
4790 B HINEY 12 83. 80
4790 EAFHIIEY 13 80. 80
4790 EAFHINEY 14 89. 00




T i B[] 2 Hif AR
4790 B HINEY 15 84. 80
4790 EAFHINEY 16 82. 00
4790 EARHINEY 17 84. 20
AH9IH BN, 18 82. 60
49 LA HIU%EY, 19 85. 80
4790 EAFHINEY 20 81. 60
AHIH LA BTy 1 86. 80
AHIH LA BTy 2 83. 60
AHIH LB TEY 3 84. 60
AHIH LB TEY 4 82. 40
AHIH LA BTy 5 88. 20
AHIH LA B TEY 6 85. 80
AHIH LB TEY 7 87. 40
AHIH LB TEY 8 86. 80
AHIH LA B TEY 9 83. 40
490 B ETEY 10 82. 80
490 B ETEY 11 86. 20
490 BT 12 85. 60
AFH9IH BB 15, 13 82. 40
AHIH B3 %Y 14 85. 80
AHIH LB TEY 15 82. 00
AHIH LA B TEY 16 83. 00
4H9H B TEY 17 81. 20
490 B TEY 18 84. 00
4H9H B TEY 19 80. 80
4H9H B TEY 20 83. 20




T i B[] 2 Hif AR
490 BT 21 87. 40
AHIH LA HNEY 1 85. 80
AHIH LA HNEY 2 86. 00
AH9IH BN FEY, 3 87. 60
AHIH LA HREY 4 83. 20
AHIH LA HNEY 5 77.00
AHIH EAHNEY 6 89. 80
AHIH LA HNEY 7 85. 60
AHIH LA HNEY 8 82. 40
AHIH LA HNEY 9 82. 00
490 EAFHNEY) 10 85. 80
490 EAFHNEY 11 88. 60
490 EAFHNEY 12 89. 60
4790 EAFHNEY 13 85. 40
490 EARHNEY 14 79. 80
490 EAFHNEY 15 86. 20
4790 EARHANEY) 16 80. 40
490 EARHNEY 17 86. 00
AH9IH BN FEY 18 84. 80
AHIH BN FEY) 19 79. 60
4IRS %Y 1 83. 80
4IRS —EY 2 84. 00
AHIATHFHE %Y 3 78. 20
AHIATNFSE %Y 4 69. 00
4HIATNFE %Y 5 85. 00
4HIATFE—HY 6 84. 60




T i B[] 2 Hif AR
AHIH THH %Y 7 82. 40
AHIH THH %Y 8 87. 80
AHIA THH %Y 9 84. 00
AHIH N5 —%) 10 85. 40
AHIATHH %Y 11 90. 00
AHIATHH %Y 12 81. 20
4HIATNFHE %Y 13 83. 60
AHIATNFSE %Y 14 83. 60
4HIATFHE %Y 15 85. 60
AHIATNFSE %Y 16 83. 20
AHIATNFE %Y 17 82. 80
4HIATFE %Y 18 86. 40
AHIATFE %Y 19 81. 80
4IRS %Y 20 88. 60
4IRS %Y 21 85. 20
4HIATNFHE %Y 22 90. 20
4HIRTHHE %Y 23 81. 60
4HIATFHE %Y 24 85. 00
AHIH N5 % 1 87. 60
AHIH N5 %Y 2 85. 60
AHIATHH %Y 3 79. 20
AHIATHH %Y 4 83. 00
AHIH TS %Y 5 81. 60
AHIH TS %Y 6 87. 40
AHIH TS %Y 7 80. 20
AHIH T %Y 8 85. 80




T i B[] 2 Hif AR
AHIHTHH %Y 9 80. 60
AHIRTNHFE —EY 10 84. 20
AHIRTHRE —EY 11 87.00
AHIH N Y 12 85. 00
AHIHTHH —FEY 13 81. 20
AHIATHH %Y 14 82. 00
4HIATNFHE —EY 15 79. 80
AHIATNRE —EY 16 81. 20
4HIATNHRHE —EY 17 84. 20
4HIATNRE —EY 18 80. 40
AHIATNFHE —EY 19 83. 40
4HIATNRE —EY 20 81. 60
4HIATFE —EY 21 78. 60
4HIRTNRE —EY 22 80. 40
4HIATNFHE —EY 23 85. 60
4HIATNFHE —EY 24 79. 60
AHIH THH=% 1 80. 40
AHIA T H=% 2 82. 80
AHIH M B =% 3 80. 40
AHIH N =% 4 82. 60
AHIA THH =% 5 81. 00
AHIA THH =% 6 79. 80
AHIH THH=% 7 79. 20
AHIH THH=% 8 82. 80
AHIH THH=% 9 83. 20
4HIATFHE =% 10 78. 80




T i B[] 2 Hif AR
4HIATFHE =% 11 79. 20
4HIA T FHE =% 12 77. 20
4HIA T FHE =% 13 80. 00
AHIH M FE =5 14 84. 40
4HIATHFE =% 15 82. 00
4R FE =% 16 82. 80
4HIATNFH =% 17 84. 80
AHIATFH =% 18 82. 00
4HIATFH =% 19 87. 60
4HIATFHE =% 20 82. 40
4HIATFHE =% 21 80. 00
4HIATFHE =% 22 81. 40
4HIATFHE =% 23 78. 60
4HIATFHE =% 24 78. 20
AHIA T HIEY 1 81. 80
AHIA T HIEY 2 81. 60
AHIH T HIEY 3 87. 20
AHIH T HIEY 4 81. 20
AH9H T INE Y 5 84. 80
AHIH NI 6 82. 80
AHIA T HIEY 7 82. 00
AHIA T HI%EY 8 89. 60
AHIH T HI%EY 9 84. 20
4HIA TN FHINEY 10 82. 60
4HIRTFHEINEY 11 87. 60
4HIATNFHEINEY 12 85. 20




T i B[] 2 Hif AR
4HIR TR EY 13 83. 80
4FHIR TR HEIEY 14 85. 40
4HIR TR HEIEY 15 82. 60
AHIH NI 16 82. 00
AHIA T HIEY 17 80. 80
AHIA TA %Y 18 86. 40
4HIR T FHEINEY 19 78. 80
4HIRTFHINEY 20 88. 20
4HIATNRHEINEY 21 85. 20
4HIATNRHEINEY 22 82. 40
4HIA TR HEINEY 23 88. 40
4HIATRHEINEY 24 82. 60
AHIATNFETLEY 1 94. 20
4R FETLEY 2 82. 20
4HIA N FHETEY 3 90. 20
4HIA TN FETLEY 4 82. 00
4HIR TN FETLEY 5 82. 40
AHIATNFHEILEY 6 80. 80
AHIH M FEIEY 7 84. 20
AHIH N5 %Y 8 82. 20
AHIA TN FELEY 9 84. 40
AHIA T FELEY 10 79. 60
AHIA TN FHETLEY 11 80. 60
AHIA TN FHELEY 12 77.00
4HIA TN FHELEY 13 84. 20
AHIATNFHELEY 14 80. 80




T i B[] 2 Hif AR
4HIRTNFETIEY 15 86. 80
AHIRTNFHETLEY 16 82. 80
AHIA TN FHEILEY 17 81. 60
AHIH N5 %Y 18 83. 00
AHIATNFELEY 19 79. 20
AHIA TR ELEY 20 78. 20
AHIA TN FHETLEY 21 84. 80
AHIA TN FEIEY 22 79. 40
4HIATNFHETLEY 23 90. 00
AHIH THHNEY 1 82. 60
AHIA THHNEY 2 78. 20
AHIA THHNEY 3 80. 60
AHIH THHNEY 4 85. 40
AHIH THHNEY 5 81. 80
AHIH THHNEY 6 81.00
AHIH THHNEY 7 83. 80
AHIH THHNEY 8 81. 80
AHIH THHNEY 9 84. 40
AHIH N ANFEY 10 84. 60
AHIH N ANFEY) 11 83. 00
AHIA THHNEY 12 79. 40
AHIRA THHNEY 13 82. 80
AHIATNFHEANEY 14 80. 20
4HIATNHRHANEY 15 80. 40
4HIATNHFHEANEY 16 79. 20
4HIATNHRHEANEY 17 77. 40




T i B[] 2 Hif AR
4FHIRTNFHEANEY 18 80. 60
4FHIRTNHRHEANEY 19 81.00
4FHIRTNHRHEANEY 20 83. 00
AFHIH N FENFEY 21 79. 40
4HIATHHENEY 22 81. 60
4FHIATNHRENEY 23 75. 80




